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Line AB Line A’B’

Transformations

This transformation in particular 
is a translation of the preimage 1 
unit right and 4 units up in the 
coordinate plane.

When you transform a preimage, 
the name of the preimages’ 
vertices change. They become 
called “primes.” 



Rigid Transformations

Translations Reflections Rotations

Verbal description:
Slides a figure along a 
straight line

Verbal description:
Flips a figure across a 
line called the line of 
reflection. Each point 
and its image are the 
same distance from 
this line.

Verbal description:
Turns a figure around 
a given point called 
the center of 
rotation. Image has 
the same size and 
shape as the 
preimage.

Visual description: Visual description: Visual description:

Algebraic description:
The figure slid 4 units 
right and 1 unit up. You 
would add 4 to the 
x-coordinate value and 
add 1 to the 
y-coordinate value.

Left/Right → Subt/Add 
x-coord
Up/Down → Add/Subt 
y-coord

Algebraic description:
The figure flipped 
across the x-axis. I 
would highlight the line 
of reflection, in this case 
the x-axis.

Across the x-axis → 
take the opposite sign 
of the y-coord (x,-y)
Across the y-axis → 
take the opposite sign 
of the x-coord (-x,y)
Across y=x → switch 
locations (y,x)

Algebraic description:
The figure is rotated 
about the origin 90° 
clockwise. I would make 
a heavy dot on the 
center of rotation.

90° clockwise → switch 
signs of x-coord then 
switch locations (y,-x)
90° CCW → switch 
signs of y-coord then 
switch locations (-y,x)
180° → switch signs of 
each (-x,-y)
270° CW → same as 90° 
CCW
270° CCW → same as 
90° CW



Algebraic “Rules”

Algebraic representations 
of transformations

X-coordinate rules Y-coordinate rules

Add to the 
coordinate Move right Move up

Subtract from the 
coordinate Move left Move down



Example #1

+ 3 - 4 + 3 - 4 + 3 - 4

L’(-2, -1), M’(5, 2), N’(8, -1)  

Example #2

- 3 - 6 - 3 - 6 - 3 - 6
- 3  - 6

R’(-4, 2), S’(0, 4), T’(0, 2), U’(-4, 0)

Example #3

- 6 + 2 - 6 + 2 - 6 + 2
- 6 + 2

E’(-3, 6), F’(1, 5), G’(1, 2), H’(-7, 4)


